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HALFYEARLY EXAMINATIONS - 2022

STD. VIII - Maths :
Time : 2.30 Hrs. ‘ Mar 0
Part- A
[ Choose the Correct Answer: 14x1=14
1. -3 isarational number which lies between .............
a0and 2 b.- 1'and 0 c.-land-2 - d.-4and-5
2. V48is approximately equal to ..............
a. 5 b. 6 : c.7 d. 8
3.0 If 455 = 10°, then X is ... .4
a. 4 b.5 c. 6 d.7
4. A line segment which joins any two points ona circle iSa ..........coov......
a. Diameter b. Radius c. Chord d. Circumference
5. ACubehas....... faces ‘
a. 4 b.5 c.6 d. 7
6. Areaofacircle............. |
a. 2nr _ b. nr? C. 2nr? - d. (n+2)r
7. If x*-y*=16 and (x +y) = 8 then (X-y) is ...........
a. 8 b.3 c.2 d. 1
8. [Ifthe area of a square is 36x*y?, then its side is ..........
a. bx%y? b. 8x%y? c. 6x%y - d.-6x2y
9. When 60 is subtracted from 60% of a number to give 60, the number is
a. 60 b. 100 _ c. 150 d. 200
10. A fruit vendor sells furits for 200 gaining F 40. His gain percentage is
a. 20% b. 22% c.25% d. 16 = % "
I1. If A ABC~ APQR inwhich |A =53 and LQ = 77° then [R is ’
- a. 500 b. 60° c. 70° d. 80°
12. The hypotenuse of a right angled triangle of sides 12 c¢m and 16 cmis .............
a. 28cm "~ b. 20cm c. 24cm d.2lcm
13. What is the eleventh fibonacci number? '
a. 55 b. 77 c.89 d. 144
4. Two numbers are said to be co-prime numbers if their HCF i
a2 b. 3 c.0 | d. 1
Part - B
I Answer any ten of the following questions : 10x2=20

I5. Find atleast two rationa numbers between _._1 and 7

—

20
Kindly send me your questions and answerkeys to us : Padasalai.net@gmail.com


https://www.padasalai.net/
https://www.padasalai.net/

www.Padasalai.Net www.CBSEtips.in

16. Fill in the blanks .
) 1. The rational number ......... does not have a reciprocal.
-1i. The multiplicate inverse of -1 18 ....oviinees
Show that 1944 is not a perfect cube. .
From the measures given below, find the area of the sectors.
Length of the arc = 48m, r=10m
19. Match the following
i. Circumference of a circle a) (nt2)r

[
[ s |

ii. Area of the sector of a circle b) % nr2
iii. Circumference of a semicircle ¢) 2nr-

iv. Area of a quadrant of circle ~d) W X mr?
20. Verify Euler’s formula for a polyhedron having 4 faces 4 vertices and 6 edges.
21. Expand : 3m+ 5)° ' |
22. Factorise : x*+14x+49 ‘
23. Solve the equation: x-7=6 ' \
24. if x% of 600 is 450 , then find the value of x

25. A mat of length 180m is made by 15 women in 12 days. How long will 1t take for 32
women to make a mat of length 512m?

26. Check whether given'sides are sides of rlght angled triangles, usmg pythagoras

theorem.
8, 15,17
27. If A Gutis isosceles and right angled , find ATUG
G
U T

7%, Find the difference between 18th and 17th fibonacci number
729 Find the HCF of 42 and 70 by using repeated subtraction method.

Part - C
[[I. Answer any ten of the following questions : 10x5=50
30, Write the following rational numbers is ascending and decending order.
3 7 Jd5 14 B
5 Jo 20 <300 15

31. Find the square root of 459684 by using long division method.

32, Evaluate : i) (_‘2_)4 X (—3—) N i) 27x (—:12—) =
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Kamalesh has' a dlmng table, circular in shape. of radius 70cm whereas . 22
tharun has a circular quadrant dining table of radius 140cm, whose dining - ( =

20C"

A rocket drawing has |
the measures as givenin = |
the figure. Find its area ‘

e ‘ +20cm >

Find the area of an irregular polygon field whose measures are given in the figure
E ' D :
&M M : %
5M 8M M M
A E G H S

10M

. B
Find the product of 2x +3) 2x-4)
Expand : (2x - 4y)’
2x 10
Find x: 37 -4="3"

Find the difference in C.1and S.I for P= Rs. 8000, r=5%p.a;, n=3 years

210 men working 12 hours a day can finish a job in 18 days. How many men are

required to finish the job in 20 days working 14 hours a day?

ABC is a triangle and G is 1its
Centroid. fAD=12cm, BC=8cm
and BE = 9 am. find the perimeter F

B D o}
If 1is the incentre of XYZ IYZ =300 and IZY =400 find YxZ
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Using repeated division method find the HCF of 320, 120 and 95

Part - D
Answer the following - - 2x8=16

Construct a quadrilateral DEAR with DE = 6cm, EA=5cm, AR =5.5 cm.
RD =5.2cm, and DA=10cm Also find its area

(or)
Construct a rhombus NEST with NS =9 ¢cm and ET = 8cm. Also ﬁnd its area.

. Plot the following points ina graph Sheet

A (59 2), -B ( 75 '3)3 C ('2’ 4)’ D ('19'1)
E (0, -5) F(2,0), G (7, -4), H (-4, 0)

or ‘ , -
Draw the graph of x = 5
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